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Directions (1-15): f&T & usft &, & Fefiepor (1) 3R (1) T 7 €. 3ad Qiar TiHoT &

Ql. 12x>—25x+72=0

14y?—12y-27=0

(a) 3 x>y
(b) I x>y
(c) 3l x<y
() 3fg x<y

(€) T x=yar x3R y & AT P Fea=y TAMT & hA1 1 Fepar
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Q2. 18x>—26x+21=0

I110y?— 43y + 28 =0

(@) Tfe x>y
) I x>y
(c) Tfe x<y
()3 x<y

(e)TfE x=yam x3 y & AT PI3 Foa=T TAMUT Fel fhar S gepar
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Q3. Ix>—18x+65=0

N2y>-17y+35=0

(@) T x>y
(b) I x 2y
(c) T x<y
(d)afe x<y

(e) TG x=yar x3iR y & AT B3 Tea=y TAMUT & haA1 ST Feh
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Q4. 17x*—44x+45=0

Il 7x— 8y = 19

(a) 3 x>y
(b)afe x2y
(c) afe x<y
() 3fg x<y

(e) I x=y T x3iR yF 7T Pg Foa=Yy TAUT el fhAT ST Tl
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Q5. 13x+7y = 18

9% -2y =8

(@) Tfe x>y
) I x>y
(c) Tl x<y
()3 x<y

(e)TfE x=y AT x 3R y& AT P FoFa=y TAT A%l AT T Fhel
L1Difficulty 2
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.3x°-11x+10=0

2 _
o M4y +13y-17=0

() TTE x>y

(b) T x>y

(o) T x<y

(d) TfE x<y

(e) T x=yar PS FFa=y TAT & foFar S Fapar
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L7y%+32y+25=0

2 _
Q. II.2x“+3x+1=0

(@) T x>y
(b) TS x>y
(c) Tfe x<y
(d) e x<y
(e) TG x=y AT P FFIcYT TATMUA el fhAT ST Tk
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L 4x+ 7y = 10
0. II. 3x + by =12
(a) e x>y

(b) TG x>y



(c) TG x<y

(d)Tfe x<y

(e) TG x=y AT PIS I TAT A& fham 1 Fehar .
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IL.x*-56x-512=0

Z2 —
o, TLy*-64y-576=0

() TG x>y
(b) TS x>y
(o) Tf& x<y
(d) T x<y
(e) TG x=y AT PIS I TAT F& fhar 1 Fepar .
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L 5y*+33y+54=0

2 —
Q0. II. 7x° - 23x+ 18 =0

(@) T x>y
(b) TS x>y
(c) Tfe x<y
(d) TS x<y
(e) T x=yTT PIS Foa=T TAUT Ael foharT ST Feharm .

L1Difficulty 2
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[.4x% +20x +21 =10
q 1L 2y +17y +35=0
(a) T x>y
(b) T x2y
(0) T x<y
(d) T x<y
(e) TS x=y AT PS FFa=y TATRT A¢l fFAT ST Tpar
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. x* —14x + 48 =0

2 —
. ILy“+6 =5y

(@) T x>y
(b) TS x2y
() afg x<y
(d) T x<y
(e)TfE x=yIAT PSS FFa=y AT & oFAT ST Fbar
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.38x* —-3x—11=0

2 —
s, 1L 28y2 +32y +9 =0



(a) TG x>y
(b)zlﬁ Xy
() Tfe x<y
(d) IfE x<y
(e) T x=y AT PIS FFaey TATT A¢l FAT ST TpaT
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.9x% —27x+8=10

2 _ =
o 492 =13y +3=0

()T x>y

(b) TS x>y

(c)Tfg x<y

(d)TfE x<y

(e) TS x=yIAT PSS FFa=y TAUT A& ohAT ST Fbar
L1Difficulty 2
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. x* —28x+ 196 =0

2 _
oss, ILY2 =196

(a) T x>y
(b) TG x>y
(o) afg x<y
(d) e x<y



(e) TfE x=y AT PIS FFaey TATT Al FAT ST Ther
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Solutions

S1. Ans.(b)

Sol.

.2%° -25x+72=0
2% - 16x-9x+72=0
2x(x-8)-9(x-8)=0

g
x=8,-
2

IL 4y -12y-27=0

4y* + 6y - 18y - 27 =0

2yv(2y+3)-9(2y+3)=0
-39

=32
X2y

S2. Ans.(e)

Sol.

1.8x° - 26x+21=0
8x* - 14x-12x+21=0
2x (4x-7)-3(4x-7)=0
73
X=—,=
4’2
II. 10y° - 43y + 28=0
10y* - 35y -8y +28=0
Sv(2yv-7)-4(2y-7) =0
7 4

Y =373
No relation

S3. Ans.(b)



Sol.

Lx*-18x+65=0
%2 -13x-5x+65=0
x=13,5

IL2y*-17y+35=0
2y*- 10y -7y +35=0
7

r=5r—
> 2

X2V

S4. Ans.(e)

Sol.

L7x* - 44x+45=10

7% -9x-35x+45=0
X(7x-9)-5(7x-9)=0
x=9/7,5

Now in IL. equation

9
Whenx =—
7

9
7X- -8y =19

9-8y=19
5
yv=—=
4
Whenx=5
7x5-8y=19
8y =16
y=2
No relation

S5. Ans.(c)

Sol.

(i)3x+7y =18
(ii)9x -2y =8
Solving (i) and (ii)
x=4/3,y=2
y>x



S6. Ans.(a)

Sol.

[.3x2-11x+10=0
=3x2-6x-5x+10=0
=x-2)(3x-5)=0
=>x=2,§
IL4y2+ 13y -17=0

= 4yi+ 17y -4y-17=0
= (4y+17)(v-1)=0

S7. Ans.(b)

Sol.

. 7y2+32y+25=0
=7y:+ Ty + 25y +25=0
=(v+1)(7y+25)=0
Sy=-1,-
IL2x2+3x+1=0

= 2x2+2x+x+1=0

= x+1)(2x+1)=0
1

=x=-1,-=
Xzy
S8. Ans.(a)
Sol.
L4x+7y=10
IL3x+5y=12

Solving eq. [ and eq. II, we get
x=34, v=-18
X>y

S9. Ans.(e)



Sol.

Lx?-56x-512=0
=xl-G4x+8x-512=0
= (x-64)(x+8)=0
=x=064,-8
ILy2- 64y - 576 =0
=yi-72y+8y-576=0
=(y-72)(y+8)=0
= y=72,-8
No relation

$10. Ans.(a)

Sol.

Loy2+33y+54=0
=5y2+ 15y + 18y + 54 =0
= (y+3)(5y +18) =0

:}y:_Sl_g
II.7%x2-23x+18=0

= Txi-14x-9x+18=0
= (x-2)(7x-9)=0

Q
::'x:E':

X:b_}.r

S11. Ans.(b)

Sol.

L.4x2+20x+21 =0
= 4x +6x+14x +21 =0
= (2x+3)(2x+7)=0
:i_-x_':j'__’
2 2
IL2y* +17y +35=0
=2y* + 10y + 7y +35=10
=(y+5)2y+7)=0
—7
= ':_5__
Y 2
ﬁxE}'



S12. Ans.(a)

Sol.

L.x?—14x4+48=0
=x’—-8x—6x+48=0
= (x—6)(x—8)=0
=x=68,8

ILy? —5y+6=0
=y —2y—-3y+6=0
=(y-2)(y—-3)=0
=>y=273
=x>y

S13. Ans.(b)

Sol.

.38x —3x—11=0
=38x>—22x+19x—11 =0
= (19x —11)(2x +1)=0

11 1
= Y = — ——

19" 2
I.28y% +32y+9=0
= 28y° + 14y + 18y +9=10
=2y +1)(14vy+9) =0
- -9 -1
VR

=x =2V

S14. Ans.(e)

Sol.



.9x* —27x+8=0
=9x—3x—24x+8=0
=(3x—1)(3x—-8)=0

18
=x=—,—

r

IL4y* —13y+3=0
=4yl —12y—y+3=0
=(y—-3)4y—-1)=0

= —13
}_4!

= No relation between x and y

S15. Ans.(b)

Sol.

[.x2—28x 4196 =0
= (x—14)(x —14) =0

=x =14,14,
ILy? =196
=y=14,—14

=x =2V



